Uppsalabridgen

UBP hcp 2022-12-15

Partavling, 6 bord, 12 par. Antal brickor: 24. Medel: 120.0.

Plac Par Poang % Namn MID Klubb
1 12 150.8 62.84  Iwe Nilsson - Roland Persson 32190 40586 PBF Uppsala
2 10 148.3 61.78  Agneta Simonsson - Jan-Ake Carlsson 35720 39555 Uppsalabridgen - PBF Uppsala
3 7 123.8 51.60 Gunnar Westermark - Goran Bernelind 49993 2805 PBF Uppsala
4 4 123.2 51.32  Anders Norberg - Christina Ask 22774 37763 Uppsalabridgen
5 9 122.8 51.19  Sven Helmersson - Claes Hallstrom 5846 40557 Uppsalabridgen - PBF Uppsala
6 6 122.3 50.95 Annika Blecher - Lena Agren 56452 37487 PBF Uppsala
7 5 117.2 48.85 Goran Nilsson - Ulla Nilsson 28884 28885 PBF Uppsala
8 1 111.8 46.58  Eise Thulin - Thomas Wagner 55795 92968 PBF Uppsala - Uppsalabridgen
9 3 107.1 44.62 Lars Holst - Eva Holst 51832 51831 PBF Uppsala
10 8 106.1 44.23  Berndt Linder - Torsten Andersson 46344 39173 PBF Uppsala
11 2 103.5 43.14  Paul Seeger - Olle Sandstrém 84897 29121 PBF Uppsala
12 11 103.0 42.90 Solveig Schwarz - Marianne Westlund 82191 48811 PBF Uppsala - Uppsalabridgen
1 41075 Basta kontrakt 2 4 E10 Basta kontrakt 3 4 Kn10864 Basta kontrakt
Nord v4 5¢v O =-450 Ost v 987532 24 OD-1100 Syd v Kn5 54 S =450
Ingen + EKn984 NS ¢ EKn ov + EKn1096
#10852 & ¢ v & NT «D107 & ¢ v & NT *4 & ¢ v & NT
4DKn92 6 N28173 496 4 D87542 N7 6867 oK 4 D2 N 4 105 118
vEDKn2 vK109865 S 2 8 1 7 3 vEDKn6 - S75857 v 986 v K10742 S 4 104 118
+D ¢ K52 O 105 116 10 ¢ D1072 ¢ K543 06 7576 ¢ K872 +5 082825
#KD43  #EKn7 V 105 116 10 #Kn53 #E84 V6757¢€6 #DKn875 #EK932 V82825
&~ EK843 & KKn3 4 E9753
v73 v K104 vED3
+ 10763 + 986 + D43
»96 *K962 »106
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
4 10 5v O= aK -450 80 20| 5 11 3v N= +3 140 100 00| 5 7 44DS+1 v9 690 10.0 0.0
6 1 4vV+1 ¢ A -450 80 20| 6 1 2NO-2 «2 100 70 3.0|12 1 34 S+3 ) 230 8.0 20
12 7 4v O +1 s A -450 80 20|12 7 240-2 3 100 70 30| 6 3 34S+2 ¢7 200 50 5.0
3 9 4v0O+2 s A -480 30 70| 3 9 240-1 *6 50 40 6.0|10 9 34 S+2 «Q 200 50 5.0
5 11 4y O +2 oK -480 30 70| 2 8 INS-1 2 -100 20 80| 4 11 24 S+2 v6 170 20 8.0
2 8 6v0O= s A -980 0.0 10.0| 4 10 3#N-2 a2 -200 0.0 100| 2 8 44 S-1 *Q -50 0.0 10.0
4 + 10865 Bésta kontrakt 5 & K1054 Bésta kontrakt 6 s K4 Bésta kontrakt
Vast v 1072 5NT V =-660 Nord vD1072 14 O =-80 Ost vED72 2NT S =120
Alla + 10 NS 4763 ov + K42
#KKn974 & ¢ v & NT »E8 & ¢ v & NT #Kn874 & ¢ v & NT
4D942 473 N4 2232 4 EKN7 49862 N5 7 6 5 6 | «4EKN109865 4D72 N7 7538
v EKn vKD9%4 S 42242 vE6 v KKn43 S57 656 | vK54 vKn1063 S7 7538
¢ EK876 ¢ Kn95 O 8 11119 11 ¢K842 D5 O7 6 6 7 6 | ¢Kn6 ¢75 055775
#106 #ED85 vV 8 11119 11 #K1094 #753 V76676 |%6 #EKD10 V557765
& EKKn «D3 3
v 8653 v 985 v 98
+ D432 + EKn109 + ED10983
*32 #DKn62 #9532
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
12 1 3NV-1 «9 100 100 00|12 2 INV-2 5 100 100 00| 5 1 44V-3 +K 300 10.0 0.0
4 11 3NV= *7 -600 80 20| 3 9 INV-1 v7 50 6.0 40|12 2 34V-2 +K 200 80 20
6 3 3NV+1 »7 -630 50 50| 6 8 INV-1 a5 50 6.0 40| 6 8 24V= +4 -110 6.0 4.0
10 9 3NO+1 s A -630 50 50| 7 4 INV-1 v7 50 6.0 40| 3 9 5¢DS-3 &6 -500 30 7.0
2 8 3NV+2 *9 -660 10 90|11 10 INV= v2 -90 20 80| 7 4 5¢DS-3 6 -500 30 7.0
5 7 3NO+2 +3 -660 10 90| 5 1 INO+1 +9 -120 0.0 10.0|11 10 44 V= 2 -620 0.0 10.0
7 & E852 Bésta kontrakt 8 & EK975 Bésta kontrakt 9 43 Bésta kontrakt
Syd v 765 6NT V =-1440 Vast v52 54 N =450 Nord vD7 3NT N =400
Alla + Kn8 Ingen + EK64 ov + KD1087
#10864 & ¢ v & NT *72 & ¢ v & NT #EKn864 & ¢ v &4 NT
496 & K73 N2 1551 a2 « D104 N9 8 9 119 47642 4 KD109 N 10107 6 9
v EK9 vD2 S21551 v Kn86 vD1074 S 989 119 vK1083 vE42 S 10107 6 9
¢ KD1076 ¢ E952 O 11128 8 12 ¢ DKn872 ¢ 1053 035423 ¢52 ¢ Kn643 03366 3
#KKn9 #E532 V 11128 8 12 #Kn1065 #E43 V35423 »752 *K10 V33663
4 DKn104 4 Kn863 4 EKn85
vKn10843 v EK93 v Kn965
+43 +9 ¢+ E9
»D7 »KD98 »D93
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 5 3NV+1 *6 -630 10.0 00| 1 11 44 N+1 v4 450 6.0 40| 7 3 3NN+2 4 460 10.0 0.0
6 2 3NV+2 a5 -660 70 30| 4 10 44 N+1 3 450 6.0 40| 9 6 3NS+1 ¢5 430 80 20
12 3 3NV +2 a5 -660 70 30| 6 2 44 N+1 A 450 6.0 40| 5 11 3NN= T 400 6.0 4.0
1 11 3NV +3 *4 -690 20 80| 7 9 44 N+1 v7 450 6.0 40| 2 1 3&N= 9 110 40 6.0
4 10 3NV +3 a2 -690 20 80|12 3 54 N= «A 450 6.0 40|12 4 3NS-1 46 -50 20 8.0
7 9 3NV+3 a5 -690 20 80| 8 5 44 N= v7 420 0.0 10.0| 8 10 3NS-2 a7 -100 0.0 10.0
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10 4 DKn Basta kontrakt 11 4543 Basta kontrakt 12 4985 Basta kontrakt
Ost v K8532 4v S =620 Syd v- 5v VD -2 300 Vast v EKn95 54 V =-450
Alla + EK85 Ingen + K10962 NS + D10
#Kn6 & ¢ v & NT #E10653 & ¢ v & NT #Kn1092 & ¢ v & NT
210862 4543 N 8 9 109 9 «D8 & K106 N 6 114 107 «KD «EKNn1074 N 2 2 5 0 3
va v EDKn9 S 8 9 109 9 v8652 vKDKn1094 S 6 114 107 v 10732 v8 S22503
¢ 7432  +1096 04 4344 ¢E53 ¢4 06 29 36 ¢ EKKNn432 +6 O 10118 119
#K1052 #D83 V 4 4344 #KD92 #Kn84 V629 36 *5 #EK8743 VvV 10118 119
& EK97 & EKn972 # 632
v 1076 vE73 v KD64
¢ DKn + DKn87 49875
*E974 *7 «D6
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
2 1 3NN= 43 600 50 50|12 5 44 S= v8 420 100 00| 3 2 3¢ V+1 v5 -130 80 20
5 11 3NN= 3 600 50 50| 9 11 24 S+1 «9 140 80 20| 6 1 440= v4 -130 80 20
7 3 3NN= 3 600 50 50| 3 2 14 S+l «9 110 6.0 40| 9 11 3¢ V+1 LN -130 80 20
8 10 3NN= vA 600 50 50| 6 1 5v0-2 «A 100 40 6.0(10 7 34 O+3 vK -230 40 6.0
9 6 3NS-= «2 600 50 50|10 7 4v0-1 *7 50 20 80|12 5 3NV= v5 -400 20 8.0
12 4 3NN= 4 600 50 50| 8 4 34S-1 *A -50 0.0 100| 8 4 44 0O+1 +9 -450 0.0 10.0
13 4 Kn10632 Basta kontrakt 14 4 E53 Basta kontrakt 15 49852 Basta kontrakt
Nord v K53 44 N =620 Ost v 83 3v OD-1100 Syd v D106 5& V D -2 300
Alla + Kn Ingen +52 NS + Kn53
#Kn973 & ¢ v & NT #EK10432 & ¢ v & NT #KD10 & ¢ v & NT
« D95 487 N9 7 9 107 « KD8 & Kn92 N9 6578 «D4 a7 N4 8 6 109
vKn86 vE97 S 97 9 107 vE9542 vKD10 S96 578 v84 v EKn952 S 486 109
4 986 ¢E107543 0O 4 6 4 3 4 + K8 ¢ 109764 037865 +E1082 ¢ D7 0957 34
#D1064 #85 V 46 434 #875 #Kn6 V37855 #Kn9754 #E8632 V95734
4 EK4 410764 « EKKn1063
vD1042 vKn76 v K73
+ KD2 ¢ EDKn3 + K964
#EK2 «D9 »-
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
7 2 3NS+1 +9 630 80 20| 4 3 3&#N-= v5 110 100 00| 8 3 44 S+1 ¢A 650 9.0 1.0
11 8 3NS+1 *4 630 80 20|11 8 INO-2 ¢+A 100 80 20|11 2 44 S+1 ¢A 650 9.0 1.0
12 6 3NS+1 +4 630 80 20| 7 2 3vV-l *A 50 60 40|10 6 24 S+1 v8 140 50 5.0
4 3 44 S= 6 620 40 6010 1 2vV= *A -110 30 70|12 7 34 S= v8 140 50 5.0
10 1 3NS= 6 600 20 80|12 6 2vV= *K -110 30 70| 1 9 44S-1 v8 -100 20 8.0
9 5 44S-1 +9 -100 00 100| 9 5 2¢S-3 &K -150 00 100| 5 4 44 S-2 v4 -200 0.0 10.0
16 « D63 Bésta kontrakt 17 » EK872 Bésta kontrakt 18 442 Bésta kontrakt
Vast vKn1098 34 N =140 Nord v 106 5& O D -2 300 Ost v D8632 5¢ S =650
ov + DKn Ingen + D7 NS + Kn2
+Kn1064 & ¢ v & NT #E976 & ¢ v & NT #E854 & ¢ v & NT
4 K102 4854 N7 4997 a4 49 N 4 3 5 108 « KDKn93 41085 N9 6 116 9
vD5 v42 S74997 v43 v EK975 S 435 108 v7 v 95 S 96 116 9
¢ K109 ¢ E87642 06 8445 ¢ Kn10432 ¢ E865 098835 + D864 ¢ K1073 046 26 4
#E9853 #72 V68445 #D10543 K82 V98835 £763 #DKn109 V46264
& EKn97 4« DKn10653 ~E76
v EK763 v DKn82 v EKKn104
+53 + K9 + E95
KD «Kn *K2
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
10 6 4v S+1 A 450 100 0.0 2 10 44 N+1 vA 450 90 10| 1 3 4v S+l 4K 650 70 3.0
1 9 3vS= +9 140 6.0 40|12 8 44 N+1 vA 450 90 10| 6 5 4v S+l 4K 650 70 3.0
5 4 2v N+1 A 140 6.0 40| 1 3 44 N= vyA 420 30 70| 9 4 4v S+l +Q 650 70 3.0
12 7 2v S+1 +9 140 6.0 40| 6 5 44 N-= vK 420 30 7.0|12 8 4v S+l K 650 7.0 3.0
8 3 4vS-1 +9 -50 1.0 90| 9 4 44 N-= vK 420 30 70| 2 10 4vS= 4K 620 20 80
11 2 4vS-1 +9 -50 10 90|11 7 44 S= v4 420 30 70|11 7 44DV-2 &A 300 0.0 10.0
19 & 842 Bésta kontrakt 20 4 D98 Bésta kontrakt 21 &« KD9752 Bésta kontrakt
Syd v K8742 4¢ V =-130 Vast v EKD8 3NT N =600 Nord v5 54 N =650
oV + K63 Alla *74 NS ¢+ E2
+D3 & ¢ v & NT +D654 & ¢ v & NT +K984 & ¢ v & NT
4Knl06 «D7 N3 3873 4 Kn7652 «103 N9 6 9 99 ~E4 » 86 N 116 10116
vKn53 vE S33873 v10532 v6 S959809 vE4 v Kn986 S 116 10116
¢+ D104 ¢ E875 O 10105 5 8 ¢ Kn62 ¢D109853 O 3 7 4 4 4 + KDKn874 ¢ 10965 027323
#E1076 #KKn9852 V 10105 5 8 «10 & EKKn2 V 374414 &Kn72 #1065 V27323
» EK953 » EK4 « Kn103
vD1096 vKn974 v KD10732
+ Kn92 ¢ EK +3
*4 #9873 #ED3
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
10 5 540-2 aA 200 100 00| 2 4 4vS= +6 620 90 1.0|12 10 44aDN+1 ¥5 990 10.0 0.0
7 6 44 0-1 4K 100 80 20| 7 6 4vS= T 620 90 10| 2 9 4aN+1 ¢T 650 40 6.0
2 4 3vS-2 *A -100 6.0 40|10 5 3NS= 42 600 60 40| 3 5 4aN+1 ¢T 650 40 6.0
3 11 340 +1 s A -130 40 6.0 1 8 3v N+1 T 170 40 6.0 4 1 44 N+1 ¢T 650 40 6.0
1 8 INV+2 a2 -150 1.0 90(|12 9 2v S+l T 140 20 80| 8 7 5vyN= ¢6 650 40 6.0
12 9 340 +2 s A -150 10 90| 3 11 4vS-1 &T -100 0.0 100|11 6 44 N+1 +5 650 40 6.0
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22 4 K103 Basta kontrakt 23 4 EKn953 Basta kontrakt 24 4 EK Basta kontrakt
Ost v Kn8 3¢ O =-110 Syd v32 5¢ V =-600 Vast v KKn87 5v N =450
ov + Kn765 Alla +43 Ingen ¢ 743
&EK42 & ¢ v & NT D842 & ¢ v & NT &E1075 & ¢ v & NT
& DKn964 &E5 N5 37 35 D876 &- N5 26 86 &4 Kn87532 494 N 109 118 9
v- v ED964 S537365 vEKnl10 v874 S526 86 v D94 v 632 S 109 118 10
¢ ED942 ¢ K103 O7 96 87 +D102 ¢EKKn875 O 7 116 4 7 + D105 + K862 024252
&#Knl06 %953 V79587 &#Kn63  #K1095 V 7 116 4 7 &D &K642 V24252
4872 4 K1042 4 D106
v K107532 v KD965 v E105
+8 +96 + EKn9
&D87 &E7 #Kn983
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 9 44 V-2 &A 200 80 20| 4 6 3aN= ¢A 140 90 10| 9 8 3NN+2 &4 460 10.0 0.0
3 5 3NO-2 v3 200 80 20(12 11 24 N+1 ¢A 140 90 10|12 11 3NS+1 a2 430 80 20
8 7 2NO-2 *8 200 80 20| 1 7 34N-1 *A -100 50 50| 3 10 3NS= a3 400 40 6.0
12 10 2NO-1 &7 100 40 60 9 8 44 N-1 A -100 50 50| 4 6 3NN= +6 400 40 6.0
4 1 24S- a] -100 20 80| 3 10 44 O= SA -130 1.0 90| 5 2 3NN= +6 400 40 6.0
11 6 3NO= +8 -600 00 100 5 2 3¢ O+1 A -130 1.0 90| 1 7 3&N= 49 110 0.0 10.0
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